Answer of Ex 1a & Ex 1b

Exercise 1a

5)
Using all the digits 1,2,3,4,5,6 how many arrangements can be made

a) beginning with an even digit,

b) beginning and ending with an even digit?

Ans:
a) Number of arrangements = 3 x 5P5 = 3 x 5! =  360 

b) Number of arrangements = 3 x 4P4 x 2 = 3 x 4! x 2 =  144 
10)
In how many ways can 4 Mathematics books and 6 Physics books be arranged on a shelf

a) with no restriction,

b) if all the Mathematics books are to the left of the Physics books?

Ans:
a) Number of ways = 10P10 = 10! =  3628800 

b) Number of ways = 4P4 x 6P6 = 4! x 6! =  17280 
18)
How many different numbers can be indicated be rearranging

a) the 8 digits of 12233344

b) the 11 digits of 99988887765?

Ans:
a) Number of different numbers = 
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 =  1680 


b) Number of different numbers = 
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 =  138600 
Exercise 1b

10)
A committee of 4 is selected from a group of 8 boys and 6 girls. If the committee must have at least one girl, in how many ways can the committee be selected?

Ans:
The committee may consist of 1, 2, 3 or 4 girls.

 If there is one girl in the committee, there will be 6C1 x 8C3 ways to select the committee.


If there are two girls in the committee, there will be 6C2 x 8C2 ways to select the committee, and so on.


∴ Total number of ways to select the committee = 6C1 x 8C3 + 6C2 x 8C2 + 6C3 x 8C1 + 6C4 =  931 

15)
A party of nine person is to travel in two cars, one of which will hold not more than seven persons, and the other not more than four. In how many ways can the party travel?

Ans:



Lets call the car which can hold seven persons be car A and the other one be car B.


The nine persons may sit in car A and car B in the following ways:

	Number of persons in Car A
	Number of persons in Car B
	Number of ways



	5
	4
	9C5

	6
	3
	9C6

	7
	2
	9C7



∴ Total number of ways that the party can travel = 9C5 + 9C6 + 9C7 =  246 

20)
There are 10 articles, 2 of which are alike and the rest all different. In how many ways can a selection of 5 articles be made?

	Case
	Number of ways

	2 alike chosen
	8C3

	1 alike chosen
	8C4

	no alike chosen
	8C5



∴ Total number of ways = 8C3 + 8C4 + 8C5 =  182 
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